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A= FHRgEER A AATOI™Y
M NEZHSE =&
&Rl AaEel BHH 25 (EEEE))
4224 BH - OS(SH) - AN - BaS of e e HIDS2
308 XXM SO0IA 3,919,823 3,413,000 506,823
11 S| 2SS & HASAIE 3,919,823 3,413,000 506,823
OQld 7 430 HHEXF ZSSIIEA4
28 € 243 375,823,000 375,823
OoagEel & 384204 A&
3,544,000,000& 3,544,000
401 AIEHIL20HY 50,000 50,000
01 Al&HI 50,000 50,000
OSaRSESsZMHERUEH 29 243
50,000,000& 50,000
10170 2= & |4 89,600 314,600 A225,000
201 L= 83,600 63,600 25,000
01 AtR2telt] 83,600 63,600 25,000
OOl JtH I8 M 5,000,000 5,000
OO0l R Gl 23 3,600,000& 3,600
Ot~ 5,000,000& 5,000
OO0 EE224 M € 22
50,000,000& 50,000
OOIIIH AE2lS M
25,000,000 25,000
202 04| 1,000 1,000
01 2ol 1,000 1,000
OO0IOIHH &= S EXZA 1,000,000 1,000
OI01OH &0 Ar 50,000 50,000
308 XXM SOIA 50,000 50,000
01 XN ELS 50,000 50,000
OOIIHAl Al& JH&H] 50,000,000& 50,000
=38 33H =54 € 243t N 240,000 240,000
308 XXIHMSO0IA 240,000 240,000
11 I 2S04 EASAIS | 240,000 240,000
O==dd SsH 54 & 2dat A&
240,000,000& 240,000
QALY EIAEA 29 202,324,240 220,324,240 »\18,000,000
QIMANY MtaEE 29 424,240 1,124,240 700,000
201 L2 422,800 1,122,800 700,000
01 AtR2telbl 422,800 1,122,800 A700,000
OQldeE 2YRAe 4
22,800,000& 22,800
OQl&eS EIIAHIA 29
400,000,000& 400,000
202 04| 1,440 1,440
01 2ol 1,440 1,440
O¢eldes 29 04 1,440,000 1,440
NAMNSAEH LHXR(ZE) 201,900,000 219,200,000 A 17,300,000




L BRI SN AMTIFHIL

NGNS

QIFAI MXAEA 29 EER=E)
LR B OR(B) - IRAY - BES ofl &t e DS
301 LtENZ 201,900,000 0 201,900,000
14 IIEt2 83 201,900,000 0 201,900,000
OXSGAZASH (U HeS HAIAISA) L&
A& 201,900,000,000& 201,900,000
HH =S 3 48,985 38,921 10,064
=ZHI(AAZ A2 48,985 38,921 10,064
FA2H| 48,985 38,921 10,064
201 el 27,720 21,000 6,720
01 At2t2ltl 27,720 21,000 6,720
ORAM2g=24| 15,520,000 16,520
O=gtl 12,200,000 12,200
202 04| 16,465 13,721 2,744
01 2L A b 16,465 13,721 2,744
OJlzg =8 0o 16,465,000 16,465
203 SR =L 4,800 4,200 600
M FA2HARFAI 4,800 4,200 600
ORAM2EER=2] 4,800,000 4,800
HRES (LI 19,154,738 12,589,299 6,565,439
SHeHXE 19,154,738 12,589,299 6,565,439
JIERRIAIN ES 11,122,203 8,214,299 2,907,904
701 JIEHRI IS EES 11,122,203 8,214,299 2,907,904
01 JIEteI B ES 11,122,203 8,214,299 2,907,904
O H2daSEIH dE=S
11,122,203,000& 11,122,203
sdE=s 2,500,000 2,500,000 0
RISHES 2,500,000 2,500,000
UIPIETSE—= 2,500,000 2,500,000
OSAIGSHIIS (LB ANFEERS)
dE= 2,500,000,000& 2,500,000
tl==dcisa 5,532,535 1,875,000 3,657,535
705 Ol==2ciSaE 5,532,535 1,875,000 3,657,535
02 Oll=== 0| Xhatat 5,532,535 1,875,000 3,657,535
OS&&eIDIZ olXraEH('21E HIE)
1,875,000,000& 1,875,000
OSe2eldlZ 0lXra&('23E HlE)
3,657,535,000& 3,657,535




Al

20233 =0llah LB ZHAHESR

E 0 & AHE E A A

A= JHE=ER A 1 ARIZZ
M AR EHAM A Tt 2ot
SRl ARRIE FRDIEE 2= EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
AtS| = ZHI Dt 14,871,541 14,519,787 351,754
= 1,150,000
s 5,962,000
Al 7,759,541
INCIESEEDN | ESESEN P el gey 14,525,376 14,174,773 350,603
= 1,150,000
s 5,962,000
Al 7,413,376
AtSlE AR 2= 14,422,376 13,961,773 460,603
= 1,150,000
s 5,962,000
Al 7,310,376
AM2IEZH MEH JIgtEA 1,497,023 1,498,115 21,092
201 23| 19,600 20,715 21,115
01 AtR2eltl 19,600 16,350 3,250
OAMeBBNSERJE =& S
19,600,000 19,600
203 =& 3,600 3,600
03 A Z=XIHSZAY| 3,600 3,600
OAMAHBM HRF8 3,600,000& 3,600
307 gI2tol ™ 1,473,823 1,473,800 23
05 QI2tRE = 1,210,000 1,210,000 0
OAMAEARMXAHEH 2
1,210,000,000& 1,210,000
08 OIXIEXNS 263,823 263,800 23
OMIEBMDIIE SSKIA
263,823,000& 263,823
INCIESPlRef= g 42,000 65,555 A23,555
201 L2 | 5,000 3,555 1,445
01 At 2telt] 5,000 3,555 1,445
OMIHIIY EE= HE S
5,000,000& 5,000
202 04d| 2,000 2,000
01 3LHO LI 2,000 2,000
OAISI &Y 2 S &0l
2,000,000& 2,000
307 QI2Hol A 35,000 60,000 225,000
02 QIRHHAAIHEE X 35,000 60,000 A25,000
02023 AFSIEDIY 2IXIS M0 AR (EHO Ol AF
,'238HAl) 35,000,000 35,000
ASIZD |G SH(LRCIEE, ME) 6,168,000 5,958,000 210,000
s 5,000,000
Al 1,168,000
308 AXIHMSO0I& 6,168,000 5,958,000 210,000




d=: &

N [Falgeafassy

DA BB MES X At

CHRL ARRIE FHRDIE =5

A 2A - B . HA(SH) - MIRAIY - BES (1;| Palgely OE:IEF% Hlns
=z 5,000,000
Al 1,168,000
01 AIXSHHABAEXS 6,168,000 5,958,000 210,000
OAFEIED|Y LXI2IEEH X
6, 168,000,0002! 6,168,000
= 5,000,000
Al 1,168,000
AFSIED| ) AFIOHEH (B 2) 1,197,700 1,210,300 A12,600
= 921,000
Al 276,700
308 XXISHSOIA 1,197,700 1,210,300 A12,600
= 921,000
Al 276,700
01 AXSHHBAE XS 1,197,700 1,210,300 A12,600
OAFRI =D AP IHEH| XIRIALS
1,197,700,000& 1,197,700
= 921,000
Al 276,700
ABIEI I HSH(ANSI2ER) 878,800 661,300 217,500
z2 712,000
Al 166,800
308 XXISHSOIA 878,800 661,300 217,500
z 712,000
Al 166,800
01 AIXSHHBAE XS 878,800 661,300 217,500
OMBEI|IY AlBIEE2 X
878,800,000 878,800
= 712,000
Al 166,800
AR ED I XIHSBIAIS (R E) 85,000 85,000 0
= 59,500
Al 25,500
307 QI2+0|& 85,000 85,000 0
= 59,500
Al 25,500
02 QIHEAMAIHE X 85,000 85,000 0
OABIED|Y KIEESIALY
85,000,000 85,000
=2 59,500
Al 25,500
AR ED Y XIHSSAIS (XIH) 220,350 265,750 145,400
= 169,500
Al 50,850
308 XIXISHHISOIE 220,350 265,750 45,400




2 YRS SA T NEIRBRD

Hu: ASIHAMER K 25

Rl AR BHDIRE 2= (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

= 169,500
Al 50,850
01 AXIEHZLAEXS 220,350 265,750 A45,400
OALSl &Y XD ESHAS
220,350,000& 220,350
= 169,500
Al 50,850
02018 SEAME(2E) 43,400 42,900 500
201 L2 | 2,000 1,500 500
01 At 22|l 2,000 1,500 500
o001 S8MY Iz HE S
2,000,000& 2,000
202 Ot 1,400 1,400
01 =LHOBI 1,400 1,400
O0tE71g S4A =&Y
1,400,000& 1,400
307 QI2Hol M 40,000 40,000
02 QItBAAIHE R 40,000 40,000
Oo221y gdst X 40,000,000& 40,000
Or201e S2HX20|2 2 (M EALY) 300,000 300,000 0
307 2I2+01™ 300,000 300,000
05 QI”tPIEZ 300,000 300,000
ool s A4E X2 (01 2-1&HH))
300,000,000& 300,000
02019 SHAE(XIJ) 375,000 345,000 30,000
s 250,000
Al 125,000
308 KXIHMSO0IH 375,000 345,000 30,000
s 250,000
Al 125,000
01 XN BAELS 375,000 345,000 30,000
O0271y SEAMY 375,000,000 375,000
s 250,000
Al 125,000
S32ZAE(HE) 2,000 500 1,500
201 22 1,500 0 1,500
01 AFR2t2ltl 1,500 0 1,500
OZ32=2 2T M & 2
1,500,000& 1,500
202 o4t 500 500
01 =04l 500 500
O=322AE FEH 500,000 500
SESZEMS(XIH) 1,500,000 1,500,000 0




A= ARA RS

Hu: ASIHAMER K 25

CHRL ARRIE FHRDIE =5 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
308 XXM SOl 1,500,000 1,500,000
01 XN BELES 1,500,000 1,500,000
OZ322AME 1,500,000,000& 1,500,000
NS SHLReIAS (HE) 2,300 1,800 500
201 er2 3| 1,500 1,000 500
01 AtR2t2ll 1,500 1,000 500
OXNSESSHL eI 2HAMI M2
g8 1,500,000 1,500
202 Ot 800 800
01 =LH0i 800 800
OXHZBSHL XA =&
800,000 800
NS SHL XA (B EAL) 1,750,803 1,750,803 0
308 AXIHMSOIA 1,750,803 1,750,803
01 XN B2 LS 1,750,803 1,750,803
OXISZSHL XA (012 2-1EHH)
1,750,803,000& 1,750,803
oI MAMISTJANH2S 360,000 270,000 90,000
307 2Itold 360,000 270,000 90,000
05 2IR”tRIE = 360,000 270,000 90,000
OEMMFEXNALE 2 360,000
S=M 43t 103,000 213,000 A 110,000
SR/ JIBtEE(HE) 53,000 53,000 0
201 er23| 3,000 3,000 0
01 At2teltl 3,000 3,000 0
O3®rZHNEL2E 29
3,000,000& 3,000
307 2I2t01 ™ 50,000 50,000
02 QIZHBAMAHEE 50,000 50,000
OSSEH IS (M) WEXA
50,000,000& 50,000
SRIM JIgEd (X&) 50,000 160,000 A 110,000
308 XXM SOIA 50,000 100,000 50,000
01 RSN B E2ES 50,000 100,000 50,000
OZ2ZH X7 S2AY
50,000,000 50,000
g=sxgael 94,565 94,065 500
B@EA8 29 94,565 9,065 500
SSig 243 MY 94,565 9,085 500
201 Ler2 | 3,000 2,500 500
01 At2t2ltl 3,000 2,500 500
OuM Mz, =24l 3,000,000 3,000
307 2I2to1 90,300 90,300 0




[}
I

oF
0J
=
=
[0
Rr
o}
<
z
I+
— &0
IFro
™
&1 oD il
< KI K
= U0 Ho
R0 7D 7D
& o
N RO )

el el Ololn|nl|h
OO |©O©|O©|©O
nd
KIo
E
E=)
8 88 LILIL|8|8 218 8188 21331313 818 818
[ep) [V NaV| DO |H|O|O © | © OO O OO | OO |O [N Ne) [N N}
S — |- NIFIE|C|° | 33|38 gla|g|e|e N~ @ |3
LH3r - T
<
RIS
S 8|88 BlILIL|28|8 8 3|12|2 28|18 81888 812|183 33|88 L|ISIS 88|88 8
@ s|dld d|e|e[aS|Ss S SIS |s H|o|e ©|3|3|S S99 |o|v|s v S S|S S|S|S S
Wﬂ
<
=
% W W % W W W W 0 W
S8 S8 8 S8 S 8 S 8 8 S
oir S s 3 S S S SIS S S
3| 8 s 8| 8| & g gel | 8 | g
. % — o ﬂ m [conTe] [ [ep]
5 [
<
I+
=
= ulo B
= Rr =
o ~ = M =
0 o KD ol it _ =
5 w |K | o RO iy 3 Rl -
. | = 0 _ i = i o
ulo K = - ol ulo T D <F
&/l | = E= I Ki 3 ] = 8| = 5 80 = O
%0 Ko < ®_ |2 = ok =T OF|s I & O = 2D
. W | = Wy | RO X0~ of RO |5 |5 RO|A = =] o X |3 W
z w | = ol <k | | | 5r = H | (i =&l = = B0 =< I S
oF Olg O |o|ar|o 5 O lals Ol 2 R0 0K = O NERS
o ® o | OF [ RO « ® <} 30 x IV
m &_mmzo oﬂ Ik
= 10. R
< B 70




g 8 A A

NN [Falgeat s Ao ESEH
NG TAIRS
SAFEAMY X~ (SH9 H2)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
ZH 1t 21,199,789 13,554,098 7,645,691
= 78,750
Jl 1,200,000
Al 19,921,039
18EH CAL2E FE 21,172,321 13,533,938 7,638,383
= 78,750
7l 1,200,000
Al 19,893,571
ArFE ALY XIE 19,710,609 12,331,498 7,379,111
= 78,750
Il 1,200,000
Al 18,431,859
e SAEH X2 =4 1,234,631 1,157,210 77,421
201 2= 16,400 14,000 2,400
01 AtR2t2lt] 5,200 5,200 0
O ARS8 2l3] &A
4,600,000 4,600
OolldeswL 758 600,000 600
03 A= 11,200 8,800 2,400
OoRd=22Xxt 5&8&
1,400,000& 1,400
OF2tg3dl iz Rl
800,000 800
Ot E &l AL i = 9,000,000& 9,000
202 04dl 2,223 2,223
01 2L AL 2,223 2,223
O AEHH S X
2,223,000 2,223
203 gF=4| 3,600 3,600
03 A=A =] 3,600 3,600
O3 & LAIE
3,600,000& 3,600
307 elztol & 1,212,408 1,102,387 110,021
02 2IZHBYAIHE £ 1,212,408 1,102,387 110,021
Ogol= 0ld g 35,000,000& 35,000
OCE0 IMthet 2 20,000,000 20,000
OsZd Nzl 3,000,000& 3,000
OQIE &2 &2ty| 19,000,000 19,000
OLZx22 SEWS 64,000,000& 64,000
OLSHH =HUF AFEFA
50,000,000 50,000
O22X+ XY HetAY 120,000,000& 120,000
OgRrzzA=I2 -sHaEags 2E(H
OOl &F, '235HAl) 293,951,000 293,951




2= ZHREER 2 ESEMN
M HMSH CA2E B
SRl ZAFHEANY X (SH9 H2)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & A HimE==T
O=SR2EXN=NE sHEAHEA 2F(F
OOl &k, '235HAl) 445,457,000 445,457
o222k fagsZeEl 12,000,000& 12,000
O2dz22Xt el 150,000,000 150,000
HRACEZUE +SUs 38,000 30,000 8,000
307 2Itold 38,000 30,000 8,000
04 DIZFHAIAIZS E X 38,000 30,000 8,000
OHI=ZUE 815 38,000,000 38,000
222 & A 60,000 60,000
307 2I2to1 60,000 60,000
04 RIZFHALAIE = 60,000 60,000
O22 X2 & &AL 60,000,000 60,000
ZENSE =X 75,000 75,000
307 2IZto1 ™ 75,000 75,000
04 DIZFHATAIZ B & 75,000 75,000
OZ2Z S o=H 75,000,000& 75,000
CEXIEM=SUS 50,000 50,000 0
307 2Itold 50,000 50,000
04 DIZFHAIAIZS E X 50,000 50,000
OkLsAg M=Usl 50,000,000 50,000
ZZNSEEXNAE 22 & 29 2,379,848 4,810,714 22,430,866
201 Let=23 | 3,000 3,000 0
2 s5=34l 3,000 3,000 0
O2ZAESE=N2 ISKRLYRES
3,000,000& 3,000
307 2IZto1 ™ 1,631,978 1,455,916 176,062
05 2IR”tRIE = 1,631,978 1,455,916 176,062
OS2 2NEE=X2 2 A (&l
1,631,978,000& 1,631,978
308 AtXIEMSOIH 420,370 743,298 N322,928
11 SIS0t 4 A AS A 420,370 743,298 N322,928
OZ22 N2 2 A
420,370,000 420,370
401 AlEHIYL 2 THYI 85,000 2,400,000 2,315,000
01 Al&HI 85,000 2,400,000 ~2,315,000
OgsS2Z2AUEE=A2 Mg ua &X|
SA 85,000,000& 85,000
402 RIREXH=201 A 135,000 108,500 26,500
03 2IZHRAETAIHHI 135,000 108,500 26,500
OSRZZANSE=X2 A2
50,000,000 50,000
OERIZZANSEIA2 A2+
65,000,000 65,000




A= JHdgER 2AM 0 =SEH
M JAFE MRS HE
SRl ZAFHEANY X (SH9 H2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
OLES22NEE=AR AL
20,000,000 20,000
405 XHetE S| 104,500 100,000 4,500
01 XML =EFSHI 104,500 100,000 4,500
HE2RNES=NZ HUHY DA S
- 60,000,000& 60,000
Ods22NSE=A2 2A2% =Y w
b 44,500,000& 44,500
A CAIE 82 2435 XA (823 AIEXI) 175,000 167,000 8,000
= 78,750
Al 96,250
201 Lt | 2,000 2,000 0
= 900
Al 1,100
01 At 22|l 2,000 2,000 0
OXl SARIESES 245 X&
2,000,000& 2,000
= 900
Al 1,100
307 212+01 A 173,000 165,000 8,000
= 77,850
Al 95,150
02 QIZHBAAIE E R 173,000 165,000 8,000
OXlY A2 EES 243t NJAAY
173,000,000 173,000
= 77,850
Al 95,150
X SARIE EoX 245t 92,200 87,574 4,626
307 2I2+01A 92,200 87,574 4,626
05 2IZtRES 92,200 87,574 4,626
OLAMBIE AR= 2F 92,200,000& 9,200
22X ZZ2 ) H(ER) 2Y 100,000 100,000 0
307 212+01 ™ 100,000 100,000
02 QIZtBAAIE E R 100,000 100,000
O2EXNXAZZ NH(ER) 2F
100,000,000 100,000
At SgEstdy HE 1,255,000 1,988,000 AT733,000
| 600,000
Al 655,000
401 Al HIZL 200 1,255,000 1,988,000 AT733,000
| 600,000
Al 655,000
01 Al&HI 1,255,000 1,988,000 A733,000




A= dHgeEs 2A =SEH
S AHME A2 EF
el SARHE AN KA EER=E)
22N - BB O9(B) - HIRAY - BY ol ko A HImE2
Odd SRl HE(SLUNSLEH)
1,255,000,0002 1,255,000
) 600,000
Al 655,000
at SE2sHH A (HE-AE 6,378,465 6,378,465
401 AIEHIZL 20| 6,378,465 6,378,465
01 Al&€HI 4,975,465 4,975,465
Ot S22 A8
4,975,465,000& 4,975,465
02 Zell 1,372,000 0 1,372,000
Ot SRy A8
1,372,000,0002 1,372,000
03 AIZ =08l 31,000 0 31,000
OdH g2y A8
31,000,000 31,000
otz SEEstdE HE 1,393,463 3,806,000 A2,412,537
2l 600,000
Al 793,463
401 AIEHIZL 20| 1,393,463 3,806,000 A2,412,537
v 600,000
Al 793,463
01 AlZHI 1,393,463 3,806,000 N2,412,537
Otz S22l HE(SLURSLE)
1,393,463,000& 1,393,463
Il 600,000
Al 793,463
otat SErEstell A" (HE-2E 6,479,002 6,479,002
401 Al2HIL=0ibl 6,479,002 6,479,002
01 Al&€HI 5,706,747 5,706,747
Otz S22y A8
5,706,747,0002 5,706,747
02 &eldl 736,000 0 736,000
Ozt SE2eH A8
736,000,000& 736,000
03 AlE =it 36,255 0 36,255
Otz SE23dH A8
36,255,000 36,255
dEY3 720 720 0
4= 720 720 0
201 Ler2aY| 720 720 0
01 At 2teltl 720 720 0
odgd=2rz =29 720,000 720
ES AR = 1,122,564 1,201,720 AT79,156
CSEH 24 AR =29 6,800 9,400 22,600
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AR 2N - FB . O9(SH) - NBAY - B O &b A HIDE2

fA23hI 27,468 20,160 7,308

201 LB-2AH| 15,708 10,920 4,788

01 AtR2telt] 15,708 10,920 4,783

O=A2Y4+8H L 22 S

15,708,000 15,708

202 0441 8,160 6,240 1,920

01 =LHOdH] 8,160 6,240 1,920
OJ|1=2g: +=aodd| 8,160,000& 8,160

203 SR F=&IH| 3,600 3,000 600

M PA2HHRFAH| 3,600 3,000 600
OFAN2ILRFAI 3,600,000& 3,600




Al

Al A

=H o
20233 20l4F LBHSI ZHAHER
A= JHE=ER N SEMRST
M EllsE 8
Hel g=2el E 29 (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
SEMKISH 160,038,497 166,892,648 26,854,151
= 23,559,518
| 34,897,704
Al 101,581,275
SN=s&E F8 76,697,766 78,697,140 A1,999,374
= 22,492,397
| 32,050,861
Al 22,154,508
a=22e| Y 2 2,982,590 3,457,540 2474950
= 2,356,500
Al 626,090
Ry KNA(HY) 313,000 123,000 190,000
= 313,000
201 23| 11,000 11,000 0
= 11,000
01 At 2telt] 7,500 7,500 0
Od=2d K2 MAES 2,860,000& 2,860
= 2,860
O=gtl 4,640,000& 4,640
= 4,640
02 E324H| 3,500 3,500 0
Os82=2 & HA 500
oXSIHA € NSIHEE=
500,000& 500
= 500
OXtgiedei] 3,000
oxtsedl ¥ FRU 3,000,000& 3,000
= 3,000
202 Ot 2,000 2,000 0
= 2,000
01 2LHOLI 2,000 2,000 0
OZSHI=EM & =80l S ted OfH
2,000,000& 2,000
= 2,000
206 =4I 300,000 110,000 190,000
= 300,000
01 M=l 300,000 110,000 190,000
OFRL=3 ZTH HZl
300,000,000& 300,000
= 300,000
okl NA(KIH) 2,043,500 2,004,000 39,500
= 2,043,500
308 RXISHMSOIH 2,043,500 2,004,000 39,500




=TT

A= FRa R

Hu: =fsE 28

‘;9;2 L=zl %%% (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-d&-8 o 8= = ofl &b s2

= 2,043,500
01 JXISHMBABES 2,043,500 2,004,000 39,500
oAzl 2A 11,500,002 11,500
= 11,500
OFLYR FOUTIAAIY ]
2,032,000,000& 2,032,000
= 2,032,000
%= It ¥ =JH| X 626,090 1,330,540 ANT704,450
308 AXIHHSOIA 390,500 328,000 62,500
01 AIXHMBAMEEZ 390,500 328,000 62,500
OSMCSHEETY X 00,000,002 100,000
ONEX # SHUX SN
290,500,000 290,500
403 XEXISHHSAH=0|A 235,590 1,002,540 AT766,950
01 XX SHH A =22 X 235,590 1,002,540 766,950
O=2HX)| XA 225,090,000 225,090
O=SAZEE 29 g435 X
10,500,000& 10,500
MESEo 24 2 =X X2 1,867,448 1,383,339 484,109
= 9%6,710
Al 870,738
SHAH 22 & X3 10,350 10,350 0
201 LEt2AH| 6,750 6,750
01 AFR2telt| 6,750 6,750
Os3dxz8 Rol= M 6,750
osHFIAIM =22 MH
5,000,000& 5,000
o2& ROl 1,750,000& 1,750
203 R =&IH| 3,600 3,600
03 AIHF=RIHAR=KIH| 3,600 3,600
OsHAMFR 3,600,000 3,600
SH=swE XH 6,300 6,300 0
= 3,500
Al 2,800
307 21Z2t0| ™ 6,300 6,300 0
= 3,500
Al 2,800
02 QI AMAIGEE X 6,300 6,300 0
OFdlsn=s XN&d 6,300,000 6,300
= 3,500
Al 2,800
HEASYHO Ad=sH= I (2E) 7,000 12,000 A5,000
= 3,500




A= MY ER 2N sSMESH
2=z 8
ol Meselel |4 U =X N (SHol: )
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
Al 3,500
201 Let2AH| 7,000 12,000 25,000
= 3,500
Al 3,500
01 At2teldl 4,000 4,000 0
OFEFA=Hol =8 MY 29H| S
4,000,000 4,000
= 2,000
Al 2,000
03 A2 | 3,000 8,000 /5,000
OBUSL0l =T 9T
3,000,000& 3,000
= 1,500
Al 1,500
HEs=sgol dsd8= X (XH) 668,465 511,714 156,751
= 548,500
Al 119,965
308 KX SHMSOIN 668,465 511,714 156,751
= 548,500
Al 119,965
01 AIXISHNBAEES 668,465 511,714 156,751
OFE=R0 AsEE (22
655,715,000 655,715
= 540,000
Al 115,715
OZE=0 AsET M2y
12,750,000 12,750
= 8,500
Al 4,250
S 3s00I=sHH 29 X3 30,805 0 30,805
= 21,210
Al 9,59
308 AXISHHMSOIH 30,805 0 30,805
= 21,210
Al 9,59
01 AIXHMEANELZ 30,805 0 30,805
Os& 3s00lssdH 29|
30,805,000 30,805
= 21,210
Al 9,595
SAH=sZE WKEHAH 12,000 24,000 12,000
= 9,000
Al 3,000
308 AXISHHMSOIH 12,000 24,000 A 12,000




c HISRAY - Bd=

H
ol &y

=}

9,000
3,000

12,000,000&

H

12,000
12,000
9,000
3,000

24,000

212,000

87,600

87,600

87,600

87,600

87,600,000

87,600

87,600

87,600

450,500
371,000
79,500

102,000

348,500

450,500
371,000
79,500

102,000

348,500

450,500,000

W

Al

450,500

450,500
371,000
79,500

102,000

348,500

0%

60,000

60,000

60,000

60,000

60,000,000&

60,000

60,000

60,000

36,000

36,000

36,000

36,000

36,000,000

36,000
36,000

36,000

25,000

25,000

25,000

25,000

25,000,000

25,000

25,000

25,000

13,428

9,600

3,828

13,428

9,600

3,828

6,400,000

7,028,000

13,428
6,400

7,028

9,600

3,828

210,000

210,000




ol &rey

MEE
Ofl &k2h

210,000

210,000

160,000,000
50,000,000&

210,000
160,000
50,000

210,000

150,000

150,000

150,000

150,000

150,000,000&

150,000

150,000

150,000

60,000
40,000
20,000

60,000

60,000
40,000
20,000

60,000

60,000,000&

60,000
60,000
40,000
20,000

60,000

40,000

40,000

20,000

40,000

220,000

20,000,000

20,000

20,000

40,000

220,000

20,000

20,000

20,000,000

20,000
20,000

20,000

Il
Al

32,
31,

238,565
407,614
830,951

35,550,978

A3,312,413

J|

31,
31,

182,000
182,000

27,092,000

4,090,000

Il

31,
31,

182,000
182,000

27,092,000

4,090,000

31, 182,000,000

Il

31,
31,
31,

182,000
182,000
182,000

27,092,000

4,090,000

J|

13,300
13,300

13,000

300

Jl

10,300
10,300

10,000

300

10,300

10,000

300




BRSPS Falgea b s A sFEMRSH

(S = rummpy o

D FAsE 7E

- S &S 28 (crel ®2l)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl r =e

OXZ2H 2 |28 ME S

5,300,000& 5,300
| 5,300
o=l 5,000,000& 5,000
| 5,000

202 04d| 3,000 3,000 0
| 3,000

01 =WHO4 LI 3,000 3,000 0
OX=H 2& ol 3,000,000& 3,000
| 3,000

SxEZ #FFH XA(X) 87,000 87,000 0
| 87,000

308 AEXISHMSOIH 87,000 87,000 0
| 87,000

01 XN BAELS 87,000 87,000 0
ZEM HEAH XA 87,000,000& 87,000
| 87,000

ZEM OlHTH(ELZAI) 8,430 8,430 0
| 8,430

206 M= 4l 8,430 8,430 0
| 8,430

01 M=l 8,430 8,430 0
=X ELZ A 8,430,000 8,430
| 8,430

StE=sHA=2 74,689 75,854 A1,165
| 74,689

308 KXISHMSOIH 74,689 75,854 21,165
| 74,689

01 AXEHILEES 74,689 75,854 21,165
Ozled=sgas 74,689,000& 74,689
| 74,689

dASBNEE 4,943 4,500 443
| 3,295
Al 1,648

308 AXIHMISO0I& 4,943 4,500 443
| 3,2%
Al 1,648

01 AXIEHZAEXS 4,943 4,500 443
OZ2EMAZN 4,943,000& 4,943
| 3,295
Al 1,648

=22 (=012%) MNEXSAIY 38,900 0 38,900
| 38,900




d=: &4

P=E

(S = rummpy o

D FAsE 7E

‘;9;2 st A5 2H (SH9 H2)
AZ - 2A BB OI(EH) - NRAY - BES 0 & A HIRS2
308 XXM SOl 38,900 0 38,900
2l 38,900
01 MAEHBEx= 38,900 0 38,900
O=2&(=012%) HEX=AtL
38,900,000 38,900
Jl 38,900
HESS SSAE 70,194 70,194 0
308 AXIHHSOIA 70,194 70,1%4
01 XSS LExS 70,194 70,194
OHEaS SSAE 70,194,000 70,194
SAUMHEE I XA 759,109 0 759,109
308 ARISMSOIE 759,109 759,109
01 MRS BdExXS 759,109 759,109
Os&= Mol2d I X2
627,703,000& 627,703
Osgol etded I AIA
70,368,000 70,368
OII=Moll 28 I XI& 61,038,000 61,038
NSSst & sASME |4 2,582,519 2,271,903 310,616
= 595,000
2l 324,000
Al 1,663,519
et ey MMM XE 17,053 19,390 N2,337
308 AHXIHHSOIA 17,053 19,390 N2,337
01 AX N B2 LS 17,053 19,390 N2,337
Ozt Jefely B MM X2
17,053,000& 17,053
2ot A EN A H AL 100,000 100,000 0
308 AXIHMSOIA 100,000 100,000
01 AN BSEES 100,000 100,000
2ot DAUMEM N
100,000,000 100,000
oty HAD|RINE & 361,525 0 361,525
403 NAIEHMSAE01H 361,525 361,525
01 RXIEHMIAt 2 2 2 361,525 361,525
Ot ndolar HADJIBIAIE £
361,525,000& 361,525
FESHE TY 137,941 140,867 N2,926
308 ARIHMSOIE 137,941 140,867 N2,926
01 MASHBSExRS 137,941 140,867 N2,926
OsAlE 2274 N&
55,586,000 55,586
OsAE +8XZ8M X&
82,355,000 82,355




A= YRR A
Hu: =fsE D8
ool XHSE U SABAY F4 (chol @)
AR RA BB B(S) - MBAY - B Ofl by A HnE2
HIE AME T8 N2 (RE) 190,000 190,000 0
2 95,000
Al 95,000
307 QI2H0| A 190,000 190,000 0
2 95,000
Al 95,000
2 DIRIBA AR T 190,000 190,000 0
OHiZ AMEDS N2 (ZF)
190,000,002 190,000
=2 95,000
Al 95,000
SAIE AHIEMUS A (HEBAY) 40,000 40,000
307 Q12H0IH 40,000 40,000
02 SIZAMAIBE 40,000 40,000
OSAE AHIHMAG A0/ 2-1E4H)
40,000, 0002 40,000
SAEMY B4 X2 12,700 2,000 700
201 LBr2AY| 12,700 2,000 700
01 AR 22lt] 2,700 2,000 700
OIS sl g 2,700, 0002 2,700
2 2229 0,000 10,000 0
ORI 84l 252401 72 (FAO) & 2 8l 1|
10,000, 0002 0,000
BAHAIE! EHASH XIRIAI (RE) 1,300 1,800 500
202 01t 1,300 1,800 500
01 201 1,300 1,800 A500
OMgZ2| BXEEY| 1,300, 0002 1,300
BXHAIS B RIRAIR(RE, 2X) 523,000 601,000 AT8,000
= 150,000
Al 373,000
308 KX/ SIS 01 523,000 601,000 AT8,000
= 150,000
Al 373,000
11 BOIZHSOICHE S A P EARI ] 523,000 601,000 78,000
ORIt 2435} XA
523,000,002 523,000
2 150,000
Al 373,000
ARD Hes 6IAE 0PI AR 70,000 70,000 0
308 KXISHHISOI 70,000 70,000
01 RXISHBABES 70,000 70,000
OAND HYs 6XAE RN
70,000, 0002 70,000




2 FHLYEE SN SENRSD

TPl NASE Y SAEMY 84 (12l M2
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e

TSEsuA W2HA XA 525,000 582,000 257,000
= 350,000
Al 175,000
308 REXIHMSOIH 525,000 582,000 257,000
= 350,000
Al 175,000
01 XN BAELS 525,000 582,000 257,000
OXSESWA DY2A N
525,000,000 525,000
= 350,000
Al 175,000
U AYY SSH SUEd A 30,000 37,500 27,500
308 AHXIHM SO & 30,000 37,500 AT7,500
01 XN ELS 30,000 37,500 27,500
OFY AEY Z2sH SUxd
30,000,000& 30,000
DFA0IREE ZAHHeA 2SR 40,000 0 40,000
403 XIS HMS K201 A 40,000 0 40,000
01 RXISH A2 E X 40,000 0 40,000
ODNPORYR ZHHYL SSXH
40,000,000& 40,000
Ot SEE ALY 24,000 0 24,000
| 24,000
308 AXIHMSO0I & 24,000 0 24,000
| 24,000
01 AXIEHELAEXS 24,000 0 24,000
OO0t LTE At 24,000,000 24,000
| 24,000
NG sLES 0128 AME JHE W= 60,000 0 60,000
308 REXISHMSOIH 60,000 0 60,000
01 XN ELS 60,000 0 60,000
OXSSA2E 0128 AME IHM DS(R
Of 0l &F, ' 238FAl) ,000,000& 60,000
AMEAM R EDIESAYE sS4 X 450,000 0 450,000
| 300,000
Al 150,000
403 XSS K201 450,000 0 450,000
| 300,000
Al 150,000
01 Xt AH22 = 450,000 0 450,000
OAEAN & BtE &Y |4 X&
450,000,000& 450,000
| 300,000
Al 150,000




AR AR SN SEMRED
N SNsE 78
el MEdsgsd (SH9 H2)
A= 2A - BE - SA(E) - HRAY - B ol &4 e HIDEY
sEdsgsy 7,429,610 3,831,690 3,597,920
= 3,051,108
Al 4,378,502
sletd=sg X3 1,364,513 1,174,773 189,740
308 AHXIEMSOIE 1,164,513 1,174,773 10,260
01 AXHHBAELS 1,164,513 1,174,773 /10,260
(OFSE= =it DA 66,150,000 66,150
Odedsa=015l A
42,666,000 42,666
Osgilds Motz ik 2
141,875,000 141,875
OQBAE 35 N& 856,831,000& 856,831
Ozletdg HaeaAY 56,991,000& 56,991
403 THAIEMS =01 200,000 200,000
01 XISHH A =2 200,000 200,000
Oozletd sdte 24 Jls H=t
200,000,000 200,000
RI2HIE XA (HE-XIJ)(2SH) (M EAY) 2,068,429 2,068,429 0
308 AHXIEMSOIH 2,068,429 2,068,429
01 HRSHHBAEES 2,068,429 2,068,429
ORJIEdIE X (012 2-1EHH))
2,068,429,000 2,068,429
EOHEM XI& 756,390 456,808 299,582
= 600,8%
Al 155,494
308 AHXIHMSO0IA 756,390 456,808 299,582
= 600,896
Al 155,494
01 HXEHH B E2ES 756,390 456,808 299,582
OE2LHEM X 756,330,000 756,390
= 600,8%
Al 155,494
HIIsSTM K& 147,288 102,080 45,208
= 73,644
Al 73,644
308 AXIHMSO0IA 147,288 102,080 45,208
= 73,644
Al 73,644
01 AXHHBAELS 147,288 102,080 45,208
FI=S M XA 147,288,000 147,288
= 73,644
Al 73,644
GAP OtE M EAXIE 35,640 22,800 12,840




2 FHLYEE SN SENRSD

Hu: =fsE D8

o2 et dsgss (CH9: &S1)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

= 24,760
Al 10,880
308 REXISHMSOIH 35,640 22,800 12,840
= 24,760
Al 10,880
01 AXIEHELAEXS 35,640 22,800 12,840
OGAP 2t e 24X 23,640,000 23,640
= 15,760
Al 7,880
OGAP 2IMAIE 22t XA 12,000,000& 12,000
= 9,000
Al 3,000
LR RS ASAE 1220 KRS 3,057,350 0 3,057,350
= 2,351,808
Al 705,542
308 AtXIHMSOIH 3,057,350 0 3,057,350
= 2,351,808
Al 705,542
01 XN BAELS 3,057,350 0 3,057,350
OYUate FaPsae 20l N
3,057,350,000& 3,057,350
= 2,351,808
Al 705,542
s&E 23" J|gtxy 4,435,804 3,622,685 813,119
= 242,880
| 118,543
Al 4,074,381
SEAESIH == 784,575 259,160 525,415
403 MHXIHMS 201 784,575 259,160 525,415
01 XISt AH22 £ 784,575 259,160 525,415
OB AESI|H 22
574,575,000& 574,575
OQUFAHZI| XA 210,000,000& 210,000
sIIH LA (REAI) 460,000 460,000 0
308 AXIHMSOIH 160,000 160,000
01 XN BAELS 160,000 160,000
OsIIHAUHAE A 29 K&
160,000,000& 160,000
403 XX SHHSKH=01A 300,000 300,000
01 XX SN =E X 300,000 300,000
OsJIHSUA 300,000,000& 300,000
S HSSHEX 22 K& 24,290 29,750 5,460
= 13,880




(S = rummpy o

A= FRa R

Hu: =f|sE 28

SX2 W J|BEY

S&d (Erel: a2
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
Al 10,410
403 XIS HMSKHE0IA 24,290 29,750 25,460
= 13,880
Al 10,410
01 MXISHHAE2ER 24,290 29,750 Ab,460
OsJIHSHEX A
24,290,000 24,290
= 13,880
Al 10,410
ADIEEICTE S & Eat 181,669 0 181,669
| 113,543
Al 68,126
403 XX SHHSA=01H 181,669 0 181,669
| 113,543
Al 68,126
01 X SHH =2 E X 181,669 0 181,669
OAIZ 0B tHat XI& 80,842,000& 80,842
| 50,526
Al 30,316
OANdEZ X3 44,976,000& 44,976
| 28,110
Al 16,866
O XIZ2& XI& 55,851,000 55,851
| 34,907
Al 20,944
SEXNSALSUSE XA(14) 8,750 0 8,750
| 5,000
Al 3,750
403 XX SHHSKH=01A 8,750 0 8,750
| 5,000
Al 3,750
01 AXIEtH 22 £ 8,750 0 8,750
OSEXSAIEsUs XIA(
8,750,000& 8,750
| 5,000
Al 3,750
st 7S NE 336,315 336,315 0
307 2I2+0l ™ 10,000 10,000
02 QIR AAIHEE X 10,000 10,000
OZ3ualZees ot N2
10,000,000 10,000
308 REXIHMSOIH 326,315 326,315
01 AXIEHELAEXS 326,315 326,315




L ARNY RS 2N - SEURSD
L =2XsE 2

D SHE 38 J|gtxy (Gt H2)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
Odzls=tts B2 50,000,000 50,000
Ostl2 =S =&/l A&
276,315,000 276,315
HlllsttE M2FSHH FSA 412,020 412,020 0
403 AXIEHMSAH=201H 412,020 412,020
01 AR A =2 £ 412,020 412,020
Osttg 28 M2MED X
412,020,000 412,020
sttt HEAZE0 LEHl X 418,414 0 418,414
308 XXM SOIA 418,414 0 418,414
01 XN B2 LS 418,414 0 418,414
Osti2 BEA2E0 ZHH| T2
418,414,000& 418,414
CAZ2usE |54 Ad 1,034,171 0 1,034,171
403 AXIEHHSAH=Z01d 1,034,171 0 1,034,171
01 MHXIHHA 222 1,034,171 0 1,034,171
OEAZu=sg S4XIE
282,208,000 282,208
OYsHE=Y SHN
751,963,000 751,963
s&= dollE 2M 455 XA 60,000 0 60,000
403 MR HHMSAHE01H 60,000 0 60,000
01 MHXIHHA 22 60,000 0 60,000
Os&= Hollsegn d=5s X2
60,000,000 60,000
H Asst 2% £XX 395,000 0 395,000
403 AXIEHHSAH=201H 395,000 0 395,000
01 AIXISHHA2EE 395,000 0 395,000
Ol NIS3 S2F XN
395,000,000 395,000
=37 s 2OIHX K2 320,600 320,600 0
= 229,000
Al 91,600
403 MR HSAE01H 320,600 320,600 0
= 229,000
Al 91,600
01 HXIHHA 22X 320,600 320,600 0
= Z7 I ZOIHA X
320,600,000 320,600
= 229,000
Al 91,600
S Mo o' 17,047,560 20,859,960 23,812,400
= 15,193,000
Al 1,854,560




S Mol ol

L ARNY RS 2N - SEURSD
L =2XsE 2

AR RA BB B(S) - MBAY - B Ofl by A HnE2
B2 & 6,479,000 6,700,000 221,000
= 6,479,000
402 Q12X 0| 6,479,000 6,700,000 221,000
= 6,479,000
02 PIIHZ AN 2 X (OIH TR 6,479,000 6,700,000 221,000
OZATIT B 2IH & ALY
4,079,000,0002 4,079,000
= 4,079,000
SHEDERTTESTIEI
2,400,000, 0002 2,400,000
= 2,400,000
2PN LB SEHIH LA (R E) 3,500,000 3,100,000 400,000
= 3,500,000
402 QI24XH=20| 3,500,000 3,100,000 400,000
= 3,500,000
02 PIIHZ AN 2 X (OIH TR 3,500,000 3,100,000 400,000
ORIt ZH HBSAIY
3,500,000, 00024 3,500,000
= 3,500,000
2PN LB SE MRS (XIS 6,881,000 10,510,000 13,629,000
= 5,214,000
Al 1,667,000
408 R SHHIS RH=0| & 6,881,000 10,510,000 A3,629,000
= 5,214,000
Al 1,667,000
01 KIXISHIX= R E 6,881,000 10,510,000 3,629,000
OXILR2ILEH HBSAIY
6,881,000, 00024 6,881,000
= 5,214,000
Al 1,667,000
OISOl S84 B 167,560 249,960 62,400
408 XEXI SIS XH=0| & 187,560 249,960 A62,400
01 XIXISHIXH= 2 X 167,560 249,960 62,400
OIS =2AS BEINL KA
187,560,000 167,560
OINEl SoIMAD|EH JY| 7,983,712 7,406,962 576,730
p 200,704
Al 7,783,008
=X 022X 243,712 206,982 3,730
p 200,704
Al 43,008
308 XHXIHAISOI & 243,712 206,982 3,730
p 200,704
Al 43,008




L AR
D =NsE 78

=TT

r

?l: HEE sgEdaD|e 3ol (Gt H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
01 MRS BdExXS 243,712 206,982 36,730
OsXI0ISHEHZAL 243,712,0002 243,712
Il 200,704
Al 43,008
A =2lAlE 38| A& 250,000 250,000 0
308 XXISHMSOIA 250,000 250,000
01 MAESHBeEx= 250,000 250,000
O=clil=clAN&E2d B2
250,000,0002 250,000
S IIEHEHI(XHA) 500,000 500,000
403 MAISHHSXZ01N 500,000 500,000
01 XM A2 E X 500,000 500,000
OgsHe 2|ANE HE=
500,000,000 500,000
SPIIBHEH(ME-XI) (HEAL) 6,990,000 6,450,000 540,000
403 MXITHHMSA=201H 6,990,000 6,450,000 540,000
01 XISHMA 22X 6,990,000 6,450,000 540,000
AT Of7E BREeAE (HE-RI)
5,040,000,000& 5,040,000
Oz 72l elAEMHES(Ma-X2)
1,950,000,000& 1,950,000
oHE XgoHe 129,958 152,063 A22,105
= 57,199
Al 72,759
HEote 2d us Xd 1,560 1,387 173
= 1,200
Al 360
308 XXM SOIA 1,560 1,387 173
= 1,200
Al 360
01 MIXHMBdEx= 1,560 1,387 173
OsEMEis 98dst 1S
1,560,000 1,560
= 1,200
Al 360
SEME0S AMRE 22| 70,285 66,926 3,359
= 46,857
Al 23,428
308 AXISHMSOIA 70,285 66,926 3,359
= 46,857
Al 23,428
01 HIXHMBdEx= 70,285 66,926 3,359
O=ZEME0tEs ARE 21|
70,285,000 70,285




2 FHLYEE SN SENRSD

Hu: =fsE D8

;F?_—ii sHE X9 EER=E)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
= 46,857
Al 23,428
sEME0ts 280t X 3,900 0 3,900
= 3,000
Al 900
308 AHAIEMSOIE 3,900 0 3,900
= 3,000
Al 900
01 HXHHBAEERS 3,900 0 3,900
SEME0ES 280t X
3,900,000 3,900
= 3,000
Al 900
sSEQIY NMH|A otENS 9,213 0 9,213
= 6,142
Al 3,071
308 AHXIEMSOIE 9,213 0 9,213
= 6,142
Al 3,071
01 XML EES 9,213 0 9,213
Os=E018 AHlA HENS
9,213,000& 9,213
= 6,142
Al 3,071
sE2Z A5 2435 N 45,000 45,000
308 AtXIEMSOIH 45,000 45,000
01 HRESHH B E2ES 45,000 45,000
OsEad A= 245t T
45,000,000 45,000
= 2dH Yt 8,977,245 10,682,421 A 1,705,176
= 1,067,121
2l 2,846,843
Al 5,063,281
SatsI 3y N 5,386,498 5,590,460 A203,962
2l 2,326,728
Al 3,089,770
IEENENN Y L ReIots Mot 293,245 277,805 15,440
308 XXM SO0IH 293,245 277,805 15,440
01 XN BELES 293,245 277,805 15,440
OJ=elsdz N 26,200,000& 26,200
ORYI=WM XA 104,370,000 104,370
OSSO0 AOHERANE RS2
900,000 900
OSldetat X 39,375,000 39,375




ma: S e 2
&Rl SotsIE ZEeHE K (SH &)
AR 2M BB C(BH) - NIRAY - BYS Ofl Ao Oﬁ]gﬁ HRE2
IEEEEEEE 122,400,008 122,400
snes 34 X4 3,000,000 3,264,335 264,335
o] 1,800,000
Al 1,200,000
307 Q12H0| A 3,000,000 3,264,335 A\264,335
I 1,800,000
Al 1,200,000
XEIEFONEEES 3,000,000 3,264,335 264,335
OstuesSA 1 3,000,000,000% 3,000,000
p 1,800,000
Al 1,200,000
AslsIR? HUC 54 391,000 500,000 108,000
308 XXISHHISOI 391,000 500,000 108,000
NP ENENEESS 391,000 500,000 108,000
OBt EUESHAY 391,000,0002! 391,000
ZMS2INEH T 277,167 283,960 16,793
308 XIS SOI 27,167 283,960 £6,793
NPCIENEREESS 217,167 263,960 16,793
ONERL AFHMAHM X
29,127,002 29,127
ON=Ek: HIES +EXZX N
248,040,002 248,040
ZARMLE BT XD 15,000 11,000 4,000
| 15,000
308 KXIEHHISOI 15,000 11,000 4,000
| 15,000
NP CENERNEESS 15,000 11,000 4,000
OZAIEE EX7Y N
15,000, 0002 15,000
| 15,000
St SOHAIE 658,970 542,310 116,660
I 404,508
Al 254,462
308 XHXIEHHISOI 658,970 542,310 116,660
p 404,508
Al 254,462
P ENEREES 658,970 542,310 116,660
OStMS0} HE ALY 658,970,002 658,970
p 404,508
Al 254,462
U= 20| X 23,520 26,040 £2,520
308 XIS SOIH 23,520 26,040 £2,520
P ENENEESS 23,520 26,040 £2,520




a2 ARagEs 2H L BBMKRED
=4 AW U
&Rl SotsIE ZEeHE K (SH &)
Al = % o|(5 = dEE =
AR RA - ZB . O9(B) - HRAY - BES ol k4 Sicron HInE2
| Ous=e0 1 23,520, 0002 23,520
ZAIR ARIX RIZ2SH X 200,000 188,000 12,000
o] 100,000
Al 100,000
308 TXIEHHISOIH 200,000 188,000 12,000
I 100,000
Al 100,000
01 XIS A A 2 xS 200,000 188,000 12,000
OZALZ AlRIXl MESSH X
200,000,002 200,000
p 100,000
Al 100,000
AZZE T 1,200 1,200 0
206 THEHI 1,200 1,200
01 M2H| 1,200 1,200
OMBRFOIZE AZHF M7
1,200, 0002 1,200
ZA2 HOPHEE NI 9,240 9,240 0
p 6,720
Al 2,520
308 XEXIEHHI SOI 9,240 9,240 0
I 6,720
Al 2,520
P ENENEESS 9,240 9,240 0
OZ4H2 HP &Y X 9,240,002 9,240
g 6,720
Al 2,520
=041/ 4011 111,000 111,000 0
408 TXISHHI S TH=0I & 111,000 111,000
01 TR =L E 111,000 11,000
OZAL 820044 ol K&
111,000, 0002 111,000
= plotEAH K 3,550 65,460 A32,910
308 XX SISO 3,550 65,460 A32,910
P ENENEESS 32,550 65,460 A32,910
Oyl Jt& HAZ2H Xd
32,550, 0002 3,550
JtEEnHel JIHE 1Y 240,000 258,000 18,000
408 TXISHHI S TH=0I & 240,000 258,000 18,000
01 XIS X2 E 240,000 258,000 18,000
OMER =211 HHIXAAL
240,000,002 240,000
NN 47,250 47,250 0




a=: ZH a
M =4 FEH 2E
&Rl SotsIE ZEeHE K (SH9 H2)
A2 24 B OR(3) - HIRAY - BES ol &k A RS2
308 XXM SOIH 47,250 47,250
01 HRESHH B E2ES 47,250 47,250
OF4 2224l X 47,250
LHEIXIEH K& 750 0 750
) 500
Al 250
403 THAIEMS =01 750 0 750
2l 500
Al 250
01 XISHH A =2 750 0 750
OLYEIXIEY K& 750,000 750
2l 500
Al 250
oA (i-3sd) 238 XA 4,860 4,860 0
308 AtXIEMSOIH 4,860 4,860
01 MRHHBAEES 4,860 4,860
Oneld®d 25 X2 4,860,000& 4,860
SIRS=Hl X2 7,200 0 7,200
308 RIXIEME0IH 7,200 7,200
01 X HHBLEEF 7,200 7,200
OsteES=Hl X 7,200,000 7,200
st SEMA =4=Q1EH X 1,500 1,500
308 XtXIEMSO0IH 1,500 1,500
01 RSN E2ES 1,500 1,500
Ogte R =4=2015H K&
1,500,000 1,500
nsE gHADIgt 24 XIH 59,500 59,500
308 AHXIEMSOIE 59,500 59,500
01 AX N ELS 59,500 59,500
Onsy gHAD|IB |4 K&
59,500,000 59,500
SIIEIXIEH K& 12,546 0 12,546
308 XXM SO0l 12,546 12,546
01 AXHHBAELS 12,546 12,546
ORJIEIXIEY] K& 12,546,000 12,546
=pE ot e ZEt 355,280 742,520 A387,240
= 9,400
2l 199,415
Al 146,465
42 20H € Ml X(2E) 3,400 3,400 0
= 1,700
Al 1,700
206 Mz bl 3,400 3,400 0




2= ZHREER A sFEMRSH
g =4 FHY 25
ol FAE otEE st EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
= 1,700
Al 1,700
01 THZHI 3,400 3,400 0
OFLE it ¢ MEHl NJ(HE)
3,400,000 3,400
= 1,700
Al 1,700
F42 0H L Mzl X2(X) 6,000 6,000 0
= 3,000
Al 3,000
308 XXM SOIA 6,000 6,000 0
= 3,000
Al 3,000
01 XN BELES 6,000 6,000 0
OFLE 4t & MEHl X3 (XY)
6,000,000& 6,000
= 3,000
Al 3,000
HOSMSALSTAR 28 =& 7,050 7,050 0
= 4,700
Al 2,350
308 XXM SO0IA 7,050 7,050 0
= 4,700
Al 2,350
01 RSN E2ES 7,050 7,050 0
OZNI=AE AUTAIY =&
7,050,000 7,050
= 4,700
Al 2,350
Sat=0182] NH 36,830 29,070 7,760
) 18,415
Al 18,415
307 2IZtol ™ 36,830 29,070 7,760
2l 18,415
Al 18,415
02 2B HAHE L 36,830 29,070 7,760
O21100] Ol=F=HK| 36,830,000 36,830
pJ 18,415
Al 18,415
CERIARE A8l X2 302,000 0 302,000
Jl 181,000
Al 121,000
307 2I2t01 ™ 302,000 0 302,000
) 181,000




of
i’
oF
uJ

-

KIO

Hlw

302,000
A1,043,827

A531,631

488,851
488,851
488,851

A35,029

MEE
Ofl &k2h

3,342,804

12,590
8,480

557,191

4,110

12,970
12,970

196,705

54,054

Ofl &F2H

121,000
302,000
181,000
121,000

302,000
2,298,977

Al
Il
Al

i

320,700
1,172,096

806, 181

Jl
Al

12,590
8,480

25,560

3,480
3,000
2,000
4,110
4,110
12,970
12,970

2,970
10,000

488,851
488,851
488,851

61,200

91,750
73,750
170,000
161,676
91,613
70,063
54,054
27,027
27,027
54,054
54,054

92,151

i

Al

fir

- SHRAZA) - HRANY - BES

=L

- 24

302,000,000&

Kt
=l
R
rJ
50
a0
KJ
K

01 AtR2telbl

O==2At

JUIDSIES,

E
0fr
E
<+
3

3,480,000
3,000,000
2,000,000

=

80
0H
[0
Mo

4,110,000&
2,970,000

10,000,000

HA X

o

=
=}

X

+

01 M=4l

206 M=4l
308 At

-

U0
3+

ol

H0

61,200,000
91,750,000
92,151,000

73,750,000&
170,000,000&

54,054

Al

54,054,000

F




AR YRAER SN SEARED
mE: =0 I Y3l
&2l JIEEgE 2l (EEEE))
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o g = ofl &b s2
= 27,027
Al 27,027
206 =8| 107,622 142,651 A35,029
= 64,586
Al 43,036
01 THZHI 107,622 142,651 N35,029
OIIEHSEY (l2=At 107,622,000& 107,622
= 64,586
Al 43,036
o= S XI2(XE) 449,892 623,754 N 173,862
= 295,127
Al 154,765
308 XAXIHHSOIA 449,892 623,754 N 173,862
= 295,127
Al 154,765
01 AIXHMBAMEEZ 449,892 623,754 N 173,862
ORI MIZHIOIZAA OllEtZ=AL
52,380,000& 52,380
= 34,920
Al 17,460
OZAY M= At 27,672,000& 27,672
= 19,382
Al 8,290
O4 EZ4ety - 28y g2 3|
47,034,000 47,034
= 21,708
Al 25,326
OYXA2HEE XN XA
27,000,000& 27,000
= 18,000
Al 9,000
OJ2sot 2gze| X
27,000,000& 27,000
= 18,000
Al 9,000
OSAXIE PS S2D| AAIEE KIS
11,790,000& 11,790
= 7,860
Al 3,930
Os8H=L29 & A=HIEXA
187,500,000& 187,500
= 125,000
Al 62,500
OO0MMESZ2 HXESY 0170t
17,000, 000& 17,000




Az FHAYER SN SEMRED
mu: =a ZMA U3
el =g 2e) (Gt H2)
AR . 2N B 09 (3H) - NRAY - B2 ofl b dE= RS2
d=-FA-35-8 = . 0l & s
= 14,000
Al 3,000
OO0 sSE &AY 0170t
7,876,000& 7,876
= 6,497
Al 1,379
OSEE)| ss2H X
36,000,000& 36,000
= 24,000
Al 12,000
OAl AIEXF HIE XA 8,640,000& 8,640
= 5,760
Al 2,880
B A S X (2Y) 40,000 0 40,000
= 20,000
Al 20,000
405 KA SHI 40,000 0 40,000
= 20,000
Al 20,000
01 AL 2 EF S| 40,000 0 40,000
O Xt et 40,000,000& 40,000
= 20,000
Al 20,000
B XYl S XI(XY) 28,000 0 28,000
= 20,000
Al 8,000
403 XIS IS AH=0|™ 28,000 0 28,000
= 20,000
Al 8,000
01 XX SHHA=2E X 28,000 0 28,000
Oxsxte XA 28,000,000& 28,000
= 20,000
Al 8,000
M oA S XA 287,211 321,044 A33,833
= 178,941
Al 108,270
308 AXIHHSOIA 287,211 321,044 33,833
= 178,941
Al 108,270
01 AXSHHEAMNEXZS 287,211 321,044 A33,833
OF MY oAt 124,707 ,000& 124,707
= 102,800
Al 21,907




&2l JIEEgE 2l (EEEE))
AT 9A B O9I(E) - ARAY - BES o &t e HIDS2
O7 M oilteal S Al=H|
95,075,000& 95,075
= 63,383
Al 31,692
O=MS HEES 23t
62,684,000& 62,684
= 10,568
Al 52,116
Ox FHY MEH(MYs)
4,745,000& 4,745
= 2,190
Al 2,555
AHEELS 191,250 213,750 A22,500
= 170,000
Al 21,250
308 XFXIEME0IH 191,250 213,750 N22,500
= 170,000
Al 21,250
01 RSN B EES 191,250 213,750 »22,500
OaX=Ed= 191,250,000 191,250
= 170,000
Al 21,250
RSN 22 - AE 4,375 700,000 165,625
= 2,500
Al 1,875
308 RIXIEME0IH 4,375 700,000 169,625
= 2,500
Al 1,875
01 AIXHHBAELS 4,375 700,000 2695,625
OJI=2X AtZ 2t 4,375,000& 4,375
= 2,500
Al 1,875
AXMIIIEHMel AL - ZHIXI (E4) 28,500 0 28,500
= 19,000
Al 9,500
308 RIXIEME0IH 28,500 0 28,500
= 19,000
Al 9,500
01 X SHHBLEEF 28,500 0 28,500
HXEIE =HHM2Hl E AE
28,500,000& 28,500
= 19,000
Al 9,500
AXIIIEHMEl AlE - ZHIXIR (XH2) 13,500 73,500 60,000




2= ZHREER A sFEMRSH
g =4 FHY 25
Rl g 2 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
= 9,000
Al 4,500
403 X SHHMSAH=01H 13,500 73,500 60,000
= 9,000
Al 4,500
01 AXEMA2EE 13,500 73,500 260,000
O&X™EII=EH el AlE - ZHIXIRA
13,500,000 13,500
= 9,000
Al 4,500
=AU AN 2R SHA l2AH| X2 212,000 209,000 3,000
pJ 127,000
Al 85,000
307 2Ito1d 212,000 209,000 3,000
Il 127,000
Al 85,000
02 2IZHBHAIAE & 212,000 209,000 3,000
OggA elzdl X2 212,000,000 212,000
Jl 127,000
Al 85,000
SSYNE =22 310,450 298,460 11,990
) 165,225
Al 185,225
307 2Ito1d 310,450 298,460 11,990
pJ 165,225
Al 165,225
02 LB HAHE L 310,450 298,460 11,990
OSSN 24 310,450,000 310,450
2l 185,225
Al 165,225
g AY elxet 57,712 0 57,712
) 38,475
Al 19,237
403 XIS AH=01H 57,712 0 57,712
) 38,475
Al 19,237
01 AXESHM A 22 57,712 0 57,712
OCcvs gaoimet 4X| X
57,712,000 57,712
2l 38,475
Al 19,237
SE85 2 936,490 1,006,637 NT0,147
= 251,540




=N [Falges AN STEAFSH
ENETE
S=ES EERE)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
Al 684,950
=4 FIIS= 2l== HH X2 171,570 167,857 3,713
= 95,340
Al 76,230
308 AtXIEHMSOIE 171,570 167,857 3,713
= 95,340
Al 76,230
01 AXEH B2 LS 171,570 167,857 3,713
O=x% - E5H| XA 92,820,000 92,820
= 42,840
Al 49,980
OR4 - RIlsE
78,750,000 78,750
= 52,500
Al 26,250
2020 St 340,500 337,950 2,550
= 136,200
Al 204,300
308 XAt HS0ld 340,500 337,950 2,550
= 136,200
Al 204,300
01 KIS Z AR E 340,500 337,950 2,550
0200 FHsH4S
340,500,000 340,500
= 136,200
Al 204,300
2SS 158,000 158,000
201 223 2,000 2,000
01 AtR2t2lt] 2,000 2,000
Oss2s g2 M 2,000,000 2,000
308 XXM SO0l 156,000 156,000
01 XN B2 LS 156,000 156,000
ORJISE 21 156,000,000 156,000
2020 el Hat 810 270 540
308 AHAIEMSOIE 810 270 540
01 HXHH B2 X 810 270 540
OZDA0| BAlL
810,000& 810
Orelistel =I1A 22X X 18,000 18,000
308 XtXIEMSO0IE 18,000 18,000
01 XSS a2 18,000 18,000
OO0rdat=l {1A
18,000,000& 18,000




Az FHAYER SN SEMRED
mu: =M M U3
el SEES 2 EER=E)
AR R BB B(3H) - MSAY - BES 0l arey dix HIRS2
d= - A - R F 45 . 0l & =
SIISE HAXZHl K& 30,000 30,000
308 AXISHHMSOIH 30,000 30,000
01 AXISHNEAEERZ 30,000 30,000
ORIIs2 Z&X=EH| XA
30,000,000 30,000
202%0| =43 K| (X1eH]) 83,700 83,700
308 AXIHHMSOIA 83,700 83,700
01 AIXHMEBANEEZ 83,700 83,700
OZ 20| 43t XIS (Xled])
83,700,000& 83,700
Bl SE 23 21ADIE Ws 32,610 14,400 18,210
308 XAXIHHS0IA 32,610 14,400 18,210
01 AXISHNEAEEXZ 32,610 14,400 18,210
ORiSE 23 AANE DS
32,610,000 32,610
s==933 74 & 29 1,500 1,500 0
201 LEtEHH| 1,500 1,500
01 AFR22t2lHl 1,500 1,500
Os=2sk33 29 1,500,000& 1,500
SHXSE AJAMN=EAH SHS= X 55,000 24,200 30,800
= 20,000
Al 35,000
308 XAXIHHSOIA 55,000 24,200 30,800
= 20,000
Al 35,000
01 AIXHMBAMEEZ 55,000 24,200 30,800
OSHXE AAMN=EA SHste== X3
55,000,000& 55,000
= 20,000
Al 35,000
S=S5 243 25,000 0 25,000
201 LEt2AH| 25,000 25,000
01 AtR2teld| 25,000 25,000
Os=2sE8 g2 25,000,000& 25,000
FUHS BtedisE A= XA 19,800 19,800
308 AXIHHSOIA 19,800 19,800
01 AXISHNEAEERZ 19,800 19,800
OFUHES StHASE 2 XK (FOHUAH, 23
SHAI) 19,800,000 19,800
nEME X3 71,312,085 76,542,246 N5,230, 161
anga X 71,312,085 76,542,246 N5,230, 161
stugal K& 71,312,085 76,542,246 N5,230, 161
201 LBr2AH| 5,400 5,400 0




SEEEPS Falgeapeeb s

DUsHE K

sngAl K

(S H &)
AZ 24 - 3H - () - HRAY - BEZ Ol &koy glg% Hns2
01 At 2teltl 5,400 5,400 0
OfI2s #6429 S 5,400,000 5,400
206 M2l 13,843,026 14,858,500 A1,015,474
01 JH2HI 13,843,026 14,858,500 A1,015,474
OstnzAl S2XA ALY
13,843,026,000 13,843,026
308 XIXISHHISOIA 57,463,659 61,678,346 N4, 214,687
08 WSI|ZH0CHSHE X 57,463,659 61,678,346 A4,214,687
OoRazal X 57,463,659,000 57,463,659
HY2H A 50,007 50,007 0
J2ZH(sSMRS) 50,007 50,007 0
SA2HH| 50,007 50,007 0
201 Ler2 Y| 28,876 28,876 0
01 At 2t2lt| 26,876 26,876 0
(OFEI=IR =] 10,044,0002 10,044
O3 16,832,0002 16,832
0 3829l 2,000 2,000 0
OXtg s ety] 2,000,000 2,000
202 O4H| 16,211 16,211
01 204l 16,211 16,211
OJl2ge4s E20i| 16,211,000 16,211
203 AR =AY 4,920 4,920
M PASILLEXY 4,920 4,920
ORASILLEXY 4,920,000 4,920
NRES (=038 3,001,3% 90,834 2,080,560
LHEHHXI= 3,001,394 920,834 2,080,560
4= 222 as 3,001,394 920,834 2,080,560
705 Ol 2RI S48 3,001,394 920,834 2,080,560
01 G2 34kst 2,833,334 708,334 2,125,000
OSe22DI2(PETHAIZOIE AlHI)
2,833,333,3202 2,833,334
02 Ol %=Z2 01 Ktat&t 168,060 212,500 A44, 440
OSe220I2(PETAIZOIA AFH|)
168,059,350 168,060




